X-Axis,Standard » Sim

plified A

djustments

Feed Screw
o e Main Body Shaft [Handle Material \ )
ode ccessories
Material | Surface Treatment MaterialMateriallFeed Screw|Screw nut
HHBO01| Standard |[Standard Handle . Hex Socket Head
HHBZ1|Type Lere REnGlE A6063 Black Anodize |SUS304|SUS303|SUS304| Brass Cap Screw
[@ Accessories
No. Accessories Qty. [ Material
20 Hex Socket Low Head Cap Screw TAF01-M3-L12 SCM435
25 TAC21-M3-L12
40
40A 4 pcs
60 | Hex Socket Head Cap Screw TAC21-M4-L12 SUS304
60A
60B
No.: 20 . [@ Handle
Feed Screw M4 Standard Handle
o b § A View
3 1% 8
o VHiH = | | S A
51 - ; u’:%j -
4-@3.2 Through 3 [ ! > 5
@6 Counterbore | "
Depth 2.2
65 as), A View §
8 20 Clamp(M3x5) 5 Large Handle
A View
o T ¢ A AXh | (15)
S - TeoHEe § 3 B
25 i ! o] _A
10 4-M3 Depth 5 S—t—|| 2.5 i g{
~21>

@6 Counterbore @7.5 Counterbore

Depth 3.2 Depth 4.2
70 (15). A View 89 (s) AView
8 25 .8 Clamp(M3x5) 5, 10 40
\ L
s — o & o
ol = ¥ = 41+ = A —
N e [ ¢‘ % ] & o 4
= =
‘L‘ 4-M3 Depth 5 25 19/18
No.: 40A
Feed Screw M4 © | Feed Screw M4 @
[t} S : Q
S ) = o)
ol ol i 0
(=) I i R . —1Ql
AS + - 3 105 4-@4.5 Through
75 4-@4.5 Through : @7.5 Counterbore
@7.5 Counterbore Depth 4.2
Depth 4.2 !
.5 ) i 119 {s)
89 (1) AView § 15 50 15
17.5 | \
— ] o (69990 |0
I — A
S = g SE—EH—— =
‘ @ |0 o o < @[ \_Clamp(M3x5)
15]115]15 8-M4 Depth 6

The first perspective




S <« X-Axis,Standard

Feed Screw

Simplified Adjustment

No.: 60A | No.: 60B

Feed Screw M4

Lg' 0 2 o Feed Screw M4 S
o /. (=]

=) T v¢ = - \—g
e R E—] 'y ]

105 | 4-0J4.5 Through J 105 @4.5 Through

@7.5 Counterbore @7.5 Counterbore
Depth 6.2 | Depth 4.2
119 (15) A View § 19 (15) A View

6-M4 Depth 6 : 5 15]15/15] \8-M6 Depth 10 10
1 10.5

=1 @

The first perspective

[@ Accuracy Standards
(@ Not recommended for precise positioning.

===
g
6
° . 0O1orlLess

s o 1ol 2

= o

&E# o §

I — S

S}

Part Number Stage Surface Travel Distance Load Capacity(N) Weight
Code No. iy (i) Horizontal Vertical (9)
20 20%20 39
+7 19.6 9.8
25 25x25 49
Standard Handle
HHBO1 40 40x40 +9 104
40A 40x25 +17 91
Large Handle N
+1 .2 19.

HHB21 60 60x60 3 39 9.6 176
60A 60x40 +23 147
60B 60x60 +13 176

(@ Travel per rotation 0.7 mm.

Part Number Stage Surface @ Discount price
& . Code No. (mm) ¢ - o Dellver
QO [ 20x20 U o

25 25%25 1 Price quotation

Peastome’  HHBO1—20



	页 1
	页 2

